Homework on Light Scattering

1. Show that the transversality condition works for light that is propagating along the 
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2. Using the polarization modulation methods described in class, discuss how you would measure S34/S11.  Show your calculations involving the Mueller matrix of the PEM, the sample and optical components.  Indicate whether the lock-in amplifier should be locked into 1 or 2.  Hint – you need to use a linear polarizer at 45o as an analyzer.

3. Van Holde Problem 7.2

4. Van Holde Problem 7.4.  The profesor did not use the information for the wavelength or dn/dc to get an answer.  
5. Example in class – demonstrate you get a circular polarizing analyzer with ¼ wave plate followed by a  polarizer.
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